=

= 8Y/HMIZ olo|x]

AEIR 2A AR

o

ks

THE!:

UWItA N E2|0t0|E 66
ol E2E AR QU EAE]
M OlR2:

HIAIH 7FAZ

HH.
BEolEe 87| £0| =2 & EZF0|2-35mmel €2 sl= SHol| AU
LICt. o] RlBe A3= Zg{a9| 3 7|0 wat cE Lt

Mgd: 7|§0lM |CH 100°C.

E52%
E2EIE 2P ATR7

FEHS EF D D1 D3 L L1 SW
K1101.119014 A 19 G1/4 4 7 9 17
K1101.122038 A 22 G3/8 4 75 10 18
K1101.128012 A 28 G1/2 4 75 11 24
K1101.134034 A 34 G3/4 5 9 11 30
K1101.142100 A 42 G1 5 10,5 12 36
K1101.151114 A 51 G11/4 5 12 13,5 42
K1101.1191415 A 19 M14X1,5 4 7 9 17
K1101.1211615 A 21 M16X1,5 4 75 10 18
K1101.1261815 A 26 M18X1,5 4 75 10 21
K1101.1282015 A 28 M20X1,5 4 8 10 24
K1101.1282215 A 28 M22X1,5 4 8 11 24
K1101.219014 B 19 G1/4 4 7 9 17
K1101.222038 B 22 G3/8 4 75 10 18
K1101.228012 B 28 G1/2 4 75 11 24
K1101.234034 B 34 G3/4 5 9 11 30
K1101.242100 B 42 G1 5 10,5 12 36
K1101.251114 B 51 G11/4 5 12 13,5 42
K1101.2191415 B 19 M14X1,5 4 7 9 17
K1101.2211615 B 21 M16X1,5 4 75 10 18
K1101.2261815 B 26 M18X1,5 4 75 10 21
K1101.2282015 B 28 M20X1,5 4 8 10 24

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 11



